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1 BT, 5°q 2413445027 R 89. 0 1 S EL
2 FEEZ 'S 24 1%%%%051 Bk 83.0 2 P35 Y
3 7K S 4 24244%%332 BBk 81.3 3 L% HY
4 L 5y 24 1k%%234 Wk 79.3 4 P Y
5 RFGELT 7 24 1#ksx054 PIEEk 85. 0 1 o35 B
6 HEE 7 249%+:%986 FIEEK 80. 2 2 L5 L
7 ] i b3 24 1%4%275 FIEEk 83.5 1 PSR
8 GRS 5B 24 15%x%804 FIEBR 76.8 2 P Y
9 FZET 5 24 1%%%%25() R 96. 0 1 PSR
10 XS 1t 5 24 stk 573 Fi R 91.7 2 WL
11 wES Es 24 1%x%278 IR 91.3 3 L5 HY
12 EVeLE b 24 k081 IR 90. 7 4 37 B
13 HsE P 241444146 IR 89. 7 5 ST
14 5 % 24 #5292 IR 89. 3 6 LR BL
15 TR 5 241%x%%279 R 87.7 7 U B
16 AR R % 24 1%4%023 IR 87.0 8 oL B
17 FERR P 24 k003 R 86. 3 9 PSR
18 E AN S % 24 [k 17 IR 86. 3 10 PSR HL
19 TR I 7 24 13807 1 b 88.0 1 o 57 Y
20 =1 7 24 145k586 PEIR 87.3 2 o7 Y
21 R 7 241544797 SR 86. 0 3 oL B
22 M 7 241%%%%100 b 85. 0 4 o 7L HY
23 Tz 7 24 k%440 PEIR 84.0 5 o 57 Y
24 MR 7 241554050 PR IR 83.0 6 o7 HY
25 sk e 7 24 1%#%845 PEIE 82.0 7 o7 Y
26 WEHEB 7 24 k154 SR 81.0 8 oL B
27 wh=ie 'S 24 1kkAT5 1 79.7 9 PSR
28 MG 58 241%#k%519 EAR 96. 3 1 P Y
29 TREiE L 24 kx4 17 EAR 95.7 2 L HL
30 RESi7 7 24 [ssk%21 4 FER 94. 8 3 L HY
31 573 5 24 1%4k034 EA 94.0 4 L5 Y
32 F 5 24 1%%%%555 EAR 93.2 5 L3 HL
33 A e 7 24 1#k4%333 FAR 92. 3 6 P Y
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34 ZRR 7 24 Lok 817 EA 91.3 7 oL B
35 it P 24 sckok(1 2 SEMS 95. 7 1 PSR
36 oy At £ 24 Isekk 11 ik 94. 7 2 L35 Y
37 RILF P 24 1%45%238 Tk 93.7 3 P Y
38 ZEREF 5’8 241544781 i 92.7 4 35 Y
39 T P 24 Lseksk238 Fik 91.0 5 o 57 Y
40 i b 241 %%%%299 BHEAE | 98.1 1 LN
41 HIPEIS 5 24 1%%%%]189 BHEE B 90. 5 2 U35 HY
42 BT s 24 1%5%640 BHEAIHE | 90.4 3 3l
43 B b 24 1kk%%k147 BHEAHF | 90.3 4 P
44 ZHAEN E’8 24 1kx%%42() FREK 94. 3 1 U35 HY
45 i L, Eiq 241 3#%%%405 PR 91.7 2 )5 H
46 TR s 241 k%142 FRLK 90.9 3 o357 HY
47 XS et iy 5 24 1%%%%383 FRLK 90.3 4 o357 HY
48 PR 7 24 1k 743 TR K 89. 1 5 057 Y
49 2= = bH 24 1%%%%545 R K 88.9 6 B
50 A 5 241%5%%377 FRAEK 88. 3 7 55 HY
51 PRk 7 241%%k%018 FRLK 87.7 8 P Y
52 fa] 2% '8 241%kx324 | ERIEK 86.9 9 PSR HL
53 BT 3B 24 1kk042 TR K 86.9 10 037 B
54 KR 7 241%%%%170 FREK 86.9 11 o 57 Y
55 TrE b 24 k%344 FREK 86. 9 12 57 B
56 ZRFEIR 7 241 3#k%404 FRLK 86. 6 13 o 57 Y
57 LN g8 241%kx048 | ERIL K 86. 3 14 PSR HL
58 FH 83 5 24 1%#%023 TR K 86.3 15 37 B
59 B 5 24 1#k5%530 FREK 86. 3 16 37 B
60 25 4 24 1%k5%518 FRHK 85. 7 17 PSR
61 SNE §'q 241467 | ERIEK 85. 4 18 PSR HL
62 Zri it % 241555065 FRLK 85. 4 19 o 57 Y
63 25 B % 2416189 | ERILK 85. 1 20 UL
64 QLEELy 7 241545350 FRELK 85. 1 21 L5 Y
65 7Kg 5 241k%5%049 FRHK 84.9 22 037 Y
66 -] ik 58 241344782 FRLK 84.3 23 P EL
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67 IRCE (B 7 24 1#k4%335 FRERK 83. 4 24 37 B
68 FHi S 241k44k588 FRHK 82.9 25 L HY
69 2% 5 Tl b 2415%%080 FREK 82.9 26 o 57 Y
70 X1 /N e 241%%%%416 FRLK 82. 6 27 L5 EL
71 FE i 8 24 14k 146 FREK 82.3 28 o7 Y
72 STk 7 24 1%kk524 FREK 81.7 29 37 B
73 Hegr 4 24 1%%%%229 FREK 81.7 30 SR HY
74 AT 58 2413555014 FRLK 80.9 31 o 57 Y
75 BRI % 24154515 FRLK 80. 9 32 o157 HY
76 PR i 5 24 1#k%091 TR K 80. 6 33 P
77 Lilies % 24 1kk221 FREK 80. 3 34 37 B
78 BT i 2415454056 PR 80.0 35 5L
79 TR 7 24 15%x%04 1 FREK 80.0 36 P Y

1 KT % 241#35k%208 R 83.3 11 B Ah
2 RS £’8 24 [ ksckok 1 72 i 79.3 10 i 4
3 e e 2494175 FER 90. 2 8 oAb
1 5K ¥t 7 24154244 ik 89. 3 6 AN
5 R I % 24 1#4%%005 Fi 88.0 7 i
6 Mt 2 5 24 1%%%%242 FRLK 79. 1 37 B Ah
7 EERE £°q 241%%%%379 FREK 7.7 38 {3 %p
8 TR 7 241545259 FRLK 77. 4 39 (B AN
9 TR i 24 1%4%505 FREK 76.9 40 B4
10 IR e 241%%k%521 FRLK 75. 1 41 3
11 P17 5’8 24 1%%%%192 FREK 72.3 42 EZAN




